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Tanya walked for 17 minutes from her home to a friend that lives 1.5 kdlometers away.
d(t) modelsTonyas remaining distance to walk in Kiometers).  minutes snce she eft home.

‘Which number type is more appropriate for the domain of d?

Choose 1 answer:

® iegers

et nambers

‘What's the appropriate domain?

Choose 1 answer:

() 15<t<1T

~15<t<0

© o<t<1r

(© 0<t<15
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“The domain of a unction i the set o al inputs for which the function s defined. n this case.
the input varable £ represents the time since Tanya let her home.

Since time i a continuous quantiy, the appropriate number type for the domain of this function
s the real umbers

The lower bound i 0 because time cannot be negatveinthis case. The bound s inclsive
because we know the remaining distance when Tanyastated walking (1.5 Kiometers. Using
function notation we can express thisas: d(0) = L5

“The upper bound s 17 because the duration of Tanyas walk was 17 minutes. The bound s
Inclusive because we know the remalning istance when Tanya iished walking (0 Kiometers.
Using function notaton, we can express this as: d(17) = 0

‘The appropriate number type for the domain of the function is:
+ Real numbers

The interval of the domain i
S0<t<IT
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‘Aidents a spice trader. He sells any amount of curmin seeds from 1 kilogram to 1000 kilograms. He charges.
5 for 1 kilogram and 82000 for 1000 kiograms.

‘p{a) modelsth price (i dolrs) of w Kiograms of cumin seeds in Aiderrs shap.

‘Which number type is more appropriate for the domain of p?.

Choose 1 answer:

® esers

et nambers

‘What's the appropriate domain?

Choose 1 answer:

® 5<w<2000

5<w< 1000

©® 1<w<2000

® 1<w<1000
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‘The domain of a function is the set of allinputs for which the function is defined. In this case.
the input varable 1 represents the weight of cumin seeds purchased.

Since weight s a continuous quantity, the appropriate number type for the domain of this
function s the real numbers.

“The lower bound is 1 because thats the minimum welght of cumin sceds Aiden s, The bound
s inclusive because we know the price of 1 kilogram of cumin sceds (85). Using function
notation, we ean express tis as: (1) = 5.

“The upper bound s 100 because that' the maximum weight of cumin secds Aiden sels The:
bound s inclusive because e know the price of 1000 Kiograms of cumin sceds (§2000). Using
function notation we can expressthis as: p(1000) = 2000

‘The appropriate number type for the domain of the function is:
+ Real numbers

The interval of the domain i
< 1<w <1000
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H{(y) models the eading number of home runs for season J of the National League between the years
2000-2010,according to the able.

Season  Player  #ofHomeRuns  Team
2000 sammySosa 50 Chicago
2001 Barry Bonds 73 San Francisco
2002 sammySosa 9 Chicago
2003 JimThome a7 Philadelphia
2004 Adrian Belre 48 Los Angeles
2005 Andruw Jones 51 Atanta
2006 Ryan Howard 58 Philadelphia
2007 Prince Fielder 50 Miwaukee
2008 Ryan Howard 8 Philadelphia
2000 Albert Pujols a7 St Louis
2010 Albert Pujols 2 St Louis

‘Which number type is more appropriate for the domain of H?

Choose 1 answer:

® iegers

et mbers
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‘What's the appropriate domain?

Choose 1 answer:

® 2000 < y < 2010
2<y<m
© 0<y<m

® 0<y<2010
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‘The domain of a function is the set of al inputs for which the function is defined. In this case,
the input varable Y represents a season year.

Since season ycar s a discrete quanity,the appropriate number type for the domain of this
function s the Integers.

“The lower bound is 2000 because this i the earfest season n the tabie. The bound s inclsive,
because we know th leading number of home runs that yr (50). Usin function notation we.
can express this as: H(2000) = 50.

“The upper bound s 2010 because this s the most recent season i the tabl. The bound s
inclusive, because we know the feading numberof home runs thatyear (42). Using function
notation, we can express tisas: H(2010) = 42.

‘The appropriate number type for the domain of the function is:
+ Integers

Theintervalof the domin s:
- 2000 < y < 2010




